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A running track is one kilometre long. If I jog for xkm and sprint for 5 km will I
complete the full distance of the track?

You give + of a box of cakes to Anna and of the box of cakes to Haris. How
much of the box of cakes did you give away?

Peter walks 7 of a mile to school. Layla walks 3of a mile to school. How much
farther does Peter walk than Layla?

There is llo of a pizza in one box and % of a pizza in another box. How much
more is there in the first box compared to the second box?

A jug contains 22 litres of orange juice. After you pour £ of a litre into some
glasses, how much is left in the jug?

At a class party, 2of a vegetarian pizza and %of a meat-feast pizza were eaten.
How much pizza was eaten altogether?

Harry and Dele shared a chocolate bar. Harry ate Z and Dele ate 15. Who ate
more? What fraction more?




